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HEF D (3) 294 cm?

(1)15x2+44x 10
=30 + 440
= 470( cm?)

(2) 60 x 2+ 46 x 11
= 120 + 506
= 626( cm?)

(3) (Tx7)x6
=49X%6
= 294( cm?)
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@ 5x8x 7 = 280( cm®)
© 6x6x6=216(cm?)
© 7Tx2x6=284(cm?)
@ 9x8x3=216(cm?)
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» & cm

> HE:. 8cm

gt o] Holt= 384 + 6 = 64cm? YU Th
A o] & A 2] ol F 8 oA 8x8 = 64°|B2
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> EE 5456m*

(7t22] do])=7-0.4x 2 = 6.2(m)
(M=Ze] do])=3-0.4x2 =2.2(m)
(=°1)=0.4(m

(] 501)=6.2 x 2.2 X 0.4 = 5.456( m?)
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~&B

() =(HR)x(AI2) x (&) o2

80 = 5x (A&2) x4,

(&)= 4( cm)
(BEO)=(5x4)x2+ (5x4) X2+ (4x4)Xx2
— 40 + 40 + 32 = 112(cm?)




